Attachment B

# **CUSTOMER REQUISITION**

### **GAS ENGINE**

**Base Unit Price** Zone Type of Vehicle Awarded Dealer MARYLAND \$42,929.00 2023 Ford Police Interceptor Utility AWD (K8A) Sheehy Ford of Richmond

The 2023 Ford Police Interceptor Utility AWD (K8A) purchased through this contract comes with all the standard equipment as specified by the manufacturer for this model and VSA's base vehicle specification(s) requirements which are included and made a part of this contract's vehicle base price as awarded by specification by zone.

Purchasing Agency: TOWN OF UPPER MARLBORO - NT237381

Color (Specify Color per

Quantity):	STERLING GRAY				
Please use a separate wo	orksheet per vehicle when ordering multiple vehicles with different options.		Unit Price	0	ty Price
Quantity	(Please select your zone from drop down menu below)				
1	MARYLAND		\$42,929.00	<b>D</b>	42,929.0
uantity must be entered for	all desired options below.  he exact same options, please enter the number of vehicles as the quantity for				
all options below. For e	example, if you are ordering 2 vehicles enter 2 for all requested options)  Order Code Add Options				
	Tail Lamp / Police Interceptor Housing Only: Pre-existing holes with standard				
	twist lock sealed capability (does not include LED strobe)(eliminates need to			_	
1	drill housing assemblies)	86T	\$56.40		56.
1	Remote Keyless	55F	Included		
1	Dark Car Feature - Courtesy lamps disabled when any door is opened	43D	\$23.50	\$	23.
	Switchable Red/White Lighting in Cargo Area (deletes 3rd row overhead map				
1	light)	17T	\$47.00		47.
1	Pre-wiring for grille LED lights, siren and speaker	60A	\$47.00	\$	47.
	Wheel Covers (18" Full Face Wheel Cover) - Note: Only available with the				
1	standard Police wheel, not available with 64E	65L	\$56.40	\$	56.
,	Rear-Door controls Inoperable / Locks Inoperable (locks, handles and windows) Note: Not available with 52P. Note: Can manually remove window or door disable plate; Note: Locks/windows operable from driver's door switches	68G	\$70.50	\$	70
1	with special tool	66G	₩ 70.50	Ψ	70
	Badge Delete - Deletes the "Police Interceptor" badging on rear liftgate;	460	NC		
1	Deletes the "Interceptor" badging on front hood (EcoBoost®)	16D	NC	_	
1	1st and 2nd row carpet floor covering (includes floor mats, front and rear)	16C	\$117.50	\$	117
1	2nd Row Cloth Seats	88F	\$56.40	\$	56
	Mirrors – Heated Sideview - Note: Not required when ordering BLIS® (heated				
1	mirror is included with BLIS®)	549	\$56.40	_	56
1	Reverse Sensing System	76R	\$258.50	\$	258
	Aux Air Conditioning - Note: Now available with Cargo Storage Vault (63V).	17A	\$573.40	\$	573
	100 Watt Siren/Speaker (includes bracket and pigtail)	18X	\$296.10		296
1		61B	\$51.70	\$	51
1	OBD - II Split Connector	0.2			
	Total Per Unit			\$	44,639
	Exterior Color:				
11	Silver Grey Metallic	TN			
				\$	44,639
	Total of All Units			Ψ	44,00



# 7449 Race Road Hanover MD 21076 443.557.0200

# Quote

To:

From:

Upper Marlboro Police Department

Nathan Bodkin

14211 School Ln

7449 Race Road

Upper Marlboro, MD 20772-2866

Hanover, MD 21076

Phone: 443.557.0200

Summary

Total Amount:

\$9,087.25

Quote ID:

QUO-09420-D5V2Y7

Shipping Method:

Date:

2/15/2023

Payment Terms:

**Expiration Date:** 

3/17/2023

Contract:

MD-State

### **Shipping Information**

Ship To:

Bill To:

14211 School Ln

14211 School Ln

Upper Marlboro, MD 20772-2866

Upper Mariboro, MD 20772-2866

Vehicles					
Vehicle ID	VIN	Tag	Year	Stock/Unit Number	Make/Model

Details				
Product ID	Description	Quantity	Price	Sub Total
	2023 Ford Explorer Admin	0.00	\$0.00	\$0.00
	INTERIOR FRONT VISOR	0.00	\$0.00	\$0.00
ENFWB	ENFWB002NJ Ford Explorer/PI Utility w/o Option 76P (2020-22) Split Front (DRV)  D12  D12  D12  D12  D12  D12  D12  D12	1.00	\$1,054.00	\$1,054.00
LABOR-INSTALLATION	Installation	2.00	\$95.00	\$190.00
	GRILLE LIGHTS	0.00	\$0.00	\$0.00
EMPS1STS4RBW	mpower® 3" Grille Stud Mount Fascia Light for Grille Mount application, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Tricolor - Red/Blue/White	2.00	\$122.50	\$245.00
LABOR-INSTALLATION	Installation 2 - 3" mPowers in upper grille and 2 - 4" mPowers in fog light area.	2.00	\$95.00	\$190.00
	UNDER COVER HEAD LIGHT INSERT	0.00	\$0.00	\$0.00

Product ID	Description	Quantity	Price	Sub Total
ELUC3H010J	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue	2.00	\$83.00	\$166.00
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2.00	\$3.00	\$6.00
LABOR-INSTALLATION	Installation	2.00	\$95.00	\$190.00
	MIRROR LIGHTS	0.00	\$0.00	\$0.00
EMPS2STS4J	mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Red/Blue	2.00	\$122.50	\$245.00
PMP2BKUMB4	Under Mirror Mount Bracket Kit (each) for installation on Ford PI Utility 2020-2021 for use with mpower® 3" and 4" Stud or Quick Mount and Intersector Surface Mount	2.00	\$20.50	\$41.00
LABOR-INSTALLATION	Installation	2.00	\$95.00	\$190.00
	PROFILE LIGHTS	0.00	\$0.00	\$0.00
ENFSGS3J	nFORCE® Single Deck/Grille Mount Light, SAE Class 1, 10- 16v, Black Housing, 12 LED, Dual Color - Red/Blue	2.00	\$133.00	\$266.00
LABOR-INSTALLATION	Installation	2.00	\$95.00	\$190.00
	TAIL LIGHT INSERT	0.00	\$0.00	\$0.00
ELUC3H010J	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue	2.00	\$83.00	\$166.00
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2.00	\$3.00	\$6.00
LABOR-INSTALLATION	Installation	2.00	\$95.00	\$190.00
	REAR INTERIOR VISOR	0.00	\$0.00	\$0.00
ENFWB	ENFWB00CX Ford Explorer/PI Utility w/o Option 76P (2020-22) Solid Rear (DRV)  S09  S09  S09  S09  S09  S09  (PAS)  RED  RED  RED  BLU  BLU  BLU  Accessories: PNFLBSPLT1 DSC w/ Breakout Box (Included) QSF003107	1.00	\$728.00	\$728.00
LABOR-INSTALLATION	Installation	2.00	\$95.00	\$190.00
	INTERIOR HATCH LIGHTS	0.00	\$0.00	\$0.00
EMPS1QMS3J	mpower® 3" Fascia Light w/ Quick Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 8 LED, Dual Color - Red/Blue	2.00	\$109.50	\$219.00
LABOR-INSTALLATION	Installation	2.00	\$95.00	\$190.00
	SIREN & SPEAKER	0.00	\$0.00	\$0.00
ETSA481RSP	nERGY® 400 Series Remote Siren w/ Button Control, 10-16v - 100 watt single-tone	1.00	\$598.00	\$598.00
ETSS100J	100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	1.00	\$194.50	\$194.50
ETSSVBK01	100N/100J Series Speaker Bracket (only - no drill) for the Ford PI Utility 2020-2021, Bumper Mount	1.00	\$29.50	\$29.50
LABOR-INSTALLATION	Installation	4.00	\$95.00	\$380.00
	CONSOLE	0.00	\$0.00	\$0.00
C-VS-1012-INUT	Ford Interceptor Utility Specific Angled Console	1.00	\$361.20	\$361.20
CM009785-1	HVAC Relocation Bracket Kit	1.00	\$47.00	\$47.00
C-EB40-SO3-1P	1-Piece Equipment Mounting Bracket, 4" Mounting Space, Fits Soundoff Signal Remote Sirens	1.00	\$21.83	\$21.83
C-EB25-XTL-1P	1-Piece Equipment Mounting Bracket, 2.5" Mounting Space, Fits Motorola XTL2500, XTL5000-05, APX-7500,	1.00	\$19.47	\$19.47





Millenium Products, Inc.

621 Monte Cristo Blvd Saint Petersburg, FL 33715 Office Phone: 888-901-7430

Purchaser: David Burse

Purchaser Phone Number: 301-627-6905 Purchaser Email: dburse@uppermalboromd.gov

Quote Name: Town of Upper Marlboro

Quote #: Q-08475-2 Job Number: 8196 Date: 2/16/2023, 3:30 PM Expires On: 3/18/2023 Phone: 888-901-7430 Fax: 801-469-7778

Email: gsa@milleniumproducts.net

CAGE # 3DNW8 DUNS # 102694671 Federal ID # 86-1159194

GS-07F-0231N: Air Compressors, Generators Light

Towers, Fuel Tanks & Trailers

GS-07F-0031W: Surveillance Equipment GS-07F-5791R: Traffic Safety Equipment

GSA Purchase Orders must indicate the GSA contract number in order to receive pricing on this quote. Orders received not indicating a GSA contract number can be accepted at open market pricing only.

Your governmental agency is eligible for the following GSA pricing on GSA Contract: 339950 / GS-07F-5791R 1% 20, Net 30

Ship To

Town of Upper Marlboro

Bill To

Town of Upper Marlboro

SALESPERSON	Phone Number	EMAIL	DELIVERY METHOD	PAYMENT METHOD
Lori Hipskind	(888) 901- 7430	lori@milleniumproducts.net		Net 30

QTY	PART#	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
1.00	GSA-WVTM-A-PD	Public Safety Mini Matrix Message Board - Hydraulic Lift, 12-inch default font size, 12 font styles, Full range of MUTCD-compliant graphics, One 85-watt solar panel, Two AGM 12V batteries (400 Ah total capacity), 15-amp charger, Telescoping tower with 360-degree rotation, In-cabinet touch screen controller (ICC), Blue (or alt) powder-coat finish with primer coat, 2-inch ball hitch	\$20,000.10	\$20,000.10
1.00	GSA-WAN-COLOR	Custom Color Scheme - All Blue	\$700.00	\$700.00
1.00	VSS-SHIP-TRLR	Flat Rate Shipping for Trailer	\$950.00	\$950.00
			TOTAL:	\$21,650,10

### Notes

#### **Terms & Conditions**

- 1. For all Investigative Data Platforms & Intelligence Lead Policing Commercial Data subscriptions fees increase annually by 4% each year.
- 2. CLK fees are shown for budget purposes only. Please DO NOT issue PO to Millenium Products, Inc. for renewals of CLK fees.
- 3. Any use tax, sales tax, excise tax, duty, custom, inspection or testing fee, or any other tax, fee, or charge of any nature whatsoever imposed by any governmental authority, on or measured by the transaction between Millenium Products, Inc. and Purchaser shall be paid by Purchaser

in addition to the price quoted or invoiced. In the event Millenium, Products, Inc. is required to pay any such tax, fee, or charge, Purchaser shall reimburse Millenium Products, Inc. therefore or, in lieu of such payment, Purchaser shall provide Millenium Products, Inc. at the time the Contract is submitted an exemption certificate or other document acceptable to the authority imposing the tax, fee or charge.

Since 1999 Powerful Solutions Proven Results
Generators • Portable Light Towers • Traffic Safety equipment • Surveillance Equipment • Fuel Trailers • Air Compressors License Plate
Reader/ALPR Systems • Real-Time Crime Centers • Mobile Command Centers

		Project Total: \$21,650.10
Signature:	Effective Date:	
Name (Print):	Title:	

Please sign and email to lori@milleniumproducts.net THANK YOU FOR YOUR BUSINESS!

Product ID	Description	Quantity	Price	Sub Total
CUP2-1001	Internal Cup Holders	1.00	\$39.53	\$39.53
C-LP2-USB-BL2	Console Accessory Bracket Kit with 2 Lighter Plug Outlets W/ 1 USB-C & USB Type A Dual Port Charger and 2 Blanks for Rectangular Accessories	1.00	\$92.04	\$92.04
C-ARM-102	Side Mount Armrest	1.00	\$55.46	\$55.46
LABOR-INSTALLATION	Installation	3.00	\$95.00	\$285.00
	CF-33 DOCKING STATION DUAL PASS-THROUGH & MOUNT	0.00	\$0.00	\$0.00
DS-PAN-1112-2	Docking Station for Panasonic Toughbook 33, 2-in-1 Laptop	1.00	\$1,001.82	\$1,001.82
C-MD-119	Swing arm with motion adapter	1.00	\$216.53	\$216.53
LABOR-INSTALLATION	Installation	2.00	\$95.00	\$190.00
	RADIO INSTALL	0.00	\$0.00	\$0.00
CUSTOMER ITEM	Customer provided part 1 Motorola APX7500 Remote head radio, antenna, wires & connections.	1.00	\$0.00	\$0.00
LABOR-INSTALLATION	Installation	3.00	\$95.00	\$285.00
INSTALL KIT	Installation kit to include wiring, connectors and necessary parts to complete installation.	1.00	\$343.00	\$343.00
7616-1001B	Dual Time Delay	1.00	\$90.37	\$90.37
SHIPPING & HANDLING	Shipping & handling.	1.00	\$175.00	\$175.00

Total	\$9,087.25
Total Tax	\$0.00



Billing Address: UPPER MARLBORO, TOWN OF 14211 SCHOOL LN UPPER MARLBORO, MD 20772 US Shipping Address: UPPER MARLBORO, TOWN OF 14211 SCHOOL LN UPPER MARLBORO, MD 20772 US Quote Date:03/03/2023 Expiration Date:06/01/2023 Quote Created By: Kevin Frazier Kevin.Frazier@ motorolasolutions.com

End Customer: UPPER MARLBORO, TOWN OF David Burse dburse@uppermarlboromd.gov

Contract: 34655 - Prince George's Count

Line #	Item Number	Description	Qty	Sale Price	Ext. Sale Price
	APX™ 6500 / Enh Series	APX 6500 Mobile Radio - ADP Only - E5 Remote Mount	1	\$4,862.71	\$4,862.71
1	M25URS9PW1BN	APX6500 ENHANCED 7/800 MHZ MOBILE			
1a	G90AC	ADD: NO MICROPHONE NEEDED APX			
1b	QA01648AA	ADD: HW KEY SUPPLEMENTAL DATA*			
1c	G72AD	ADD: APX O3 HANDHELD CH			
1d	GA00235AA	ADD: NO GPS ANTENNA NEEDED APX			
1e	GA00580AA	ADD: TDMA OPERATION			
1f	G51AU	ENH: SMARTZONE OPERATION APX6500			
1g	G67DR	ADD: REMOTE MOUNT O3 APXM			
1h	G78AT	ENH: 3 YEAR ESSENTIAL SVC			
1i	GA01771AB	ENH: ENHANCEMENT LEVEL 2			
1j	W432AG	ADD: AUXILIARY SPKR 13W (3.20HM)			



Any sales transaction following Motorola's quote is based on and subject to the terms and conditions of the valid and executed written contract between Customer and Motorola (the ""Underlying Agreement") that authorizes Customer to purchase equipment and/or services or license software (collectively ""Products"). If no Underlying Agreement exists between Motorola and Customer, the Motorola's Standard Terms of Use and Motorola's Standard Terms and Conditions of Sales and Supply shall govern the purchase of the Products.

Motorola Solutions, Inc.: 500 West Monroe, United States - 60661 - #: 36-1115800



Line #	Item Number	Description	Qty	Sale Price	Ext. Sale Price
1k	G444AH	ADD: APX CONTROL HEAD SOFTWARE			
11	QA05751AA	ADD: NO ENCRYPTION, CLEAR RADIO (NO ADP) (US ONLY)			
1m	G806BL	ENH: ASTRO DIGITAL CAI OP APX			
1n	G174AD	ADD: ANT 3DB LOW-PROFILE 762-870			
10	G361AH	ENH: P25 TRUNKING SOFTWARE APX			
Grand	Total			\$4.862	.71(USD)

# Notes:

- Additional information is required for one or more items on the quote for an order.
- Unless otherwise noted, this quote excludes sales tax or other applicable taxes (such as Goods and Services Tax, sales tax, Value Added Tax and other taxes of a similar nature). Any tax the customer is subject to will be added to invoices.





# **Bringing Advanced Technologies to the Security World**

February 16, 2023

David A. Burse Chief of Police The Town of Upper Marlboro 14211 School Lane Upper Marlboro, MD 20772

Tel: 301-627-6905

Email: dburse@uppermarlboromd.gov

# **Modular Vehicle Barrier-3X System**

Dear Chief Burse,

Please find additional product information on the Mifram Modular Vehicle Barrier 3X System. Advanced Security Technologies LLC (AST) is the US distributer and sales arm for the Mifram product line. AST also manufactures dedicated US made transport trailers that can be used to bring the MVB3X and its accessories to the event. After the event, the equipment can be loaded back into the dedicated trailer that will be used as storage.



### A. System Advantages:

- One person to install
- One person to dismantle at the end of the event
- One minute for each section to be connected
- Quick access in case of an emergency
- System can be used as an active gate
- Assembled without the need of any tools
- Folds for easy carrying
- Easy to store
- Zero maintenance
- Complete modular system. System can be as short or long as the event requires.

### B. Mobile Vehicle Barrier Specification:

- 1. Barriers must be certified to ASTM-F2656-15
- 2. Barriers must be certified to ASTM/PAS 68 & IWA standards
- 3. Barrier System must be modular
- 4. Spacing between barriers must be 21"



- 5. Each complete MVB3X unit must weigh less than 55 lbs.
- 6. Each unit dimensions: L~46.5", W~21", H~32"
- 7. Tools shall not be required. System is to be assembled with pins.
- 8. Barriers must have the ability to be folded for transport mode.
- 9. Barriers shall be in bright yellow color as part of a standard order
- 10. MVB3X units must have the option to pivot.
- 11. MVB3X units must have the option of slide wheels.
- 12. MVB3X pivoting section shall be modular (meaning user can decide how many sections to open).
- 13. Barriers with pivoting systems should be able to connect to MVB3X units w/o pivoting systems.
- 14. Barriers must be for quick deployment (less than a minute to deploy a single unit).
- 15. Barriers must be able to be deployed by one person
- 16. Bottom edges of the barriers shall be protected by aluminum covers (for pedestrian safety)
- 17. Barrier System shall have the ability to be deployed from the road and up to sidewalk in one continuous line.
- 18. MVB3X units shall have the ability to be used on any type of terrain (Sand, Gravel, Asphalt, Concrete)
- 19. MVB3X units shall be shipped in steel boxes
- 20. MVB3X units shall not require any maintenance

### C. Pricing Information:

Part Number	MVB3X New Generation MVB	Unit Price	QTY	Extended
MIF-MVB3X	MVB3X unit	\$1,450	10	\$14,500
MIF-MVB3X-PS	Pivot system	\$594	10	\$5,940
MIF-MVB3X-SWF	Slide Wheel – Fixed	\$455	1	\$455
MIF-MVB3X-SWR	Slide Wheel – Rotating	\$455	4	\$1,820
AST-MVB3X-PBL	Large Storage/Shipping Box	\$970	1	\$970
	Shipping & Handling	\$600	1	\$600
			MVB-3X Total	\$24,285

### D. Notes:

- 1. Above breakdown is based on a single box of 10 x MVB3X units with Pivots and accessories.
- 2. All MVB3X units will include the front wheel assembly.
- 3. A single 10-unit box can include 10 x MVB3X, 9 x Pivots, 4 handles, 2 End pieces, 1 fixed slide wheel and 4 rotating slide wheels.
- 4. All units have Pivot capability (Can be used as an active gate).
- 5. Slide wheels are quoted and will be shipped inside the shipping box.

### E. Terms & Conditions:

- 1. F.O.B Destination. Shipping has been included in the above price.
- 2. Taxes are not included. Should any taxes are levied they will be paid for by the purchaser.



- 3. Delivery: 6-8 weeks ARO
- 4. Payment terms net 30.
- 5. Prices are valid for 90 days.
- 6. Purchase of equipment is subject to Advanced Security Technologies LLC standard terms and conditions.

If you have any additional questions, please don't hesitate to contact me at any time.

Sincerely,

Yaron Getter

Principal & Co-Founder

**Advanced Security Technologies LLC** 

Mobile: (917) 561-1344 | ygetter@adsectec.com